
Practice questions – Year 5 and 6 – Multi step addition and subtraction

1. 4 m of rope cut into 3 pieces. Piece 1 = 1.1 m, Piece 2 = 129 cm, Piece 3 = ? (addition and subtraction problems)

2. 3 m of rope cut into 3 pieces. Piece 1 = 2.07 m, Piece 2 = 19 cm, Piece 3 = ? (addition and subtraction problems)

3. 4.5 m of rope cut into 3 pieces. Piece 1 = 3.25 m, Piece 2 = 75 cm, Piece 3 = ? (addition and subtraction problems)

4. 5 m of rope cut into 3 pieces. Piece 1 = 2.8 m, Piece 2 = 105 cm, Piece 3 = ? (addition and subtraction problems)

5. 3.8 m of rope cut into 3 pieces. Piece 1 = 2.3 m, Piece 2 = 141 cm, Piece 3 = ? (addition and subtraction problems)

6. 2,900 mm of rope cut into 3 pieces. Piece 1 = 1.71 m, Piece 2 = 40 cm, Piece 3 = ? (addition and subtraction problems)
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Practice question answers – Year 5 and 6 – Multi step addition and subtraction

1. 4 m of rope cut into 3 pieces. Piece 1 = 1.1 m, Piece 2 = 129 cm, Piece 3 = 1.61 m (addition and subtraction problems)

2. 3 m of rope cut into 3 pieces. Piece 1 = 2.07 m, Piece 2 = 19 cm, Piece 3 = 0.74 m (addition and subtraction problems)

3. 4.5 m of rope cut into 3 pieces. Piece 1 = 3.25 m, Piece 2 = 75 cm, Piece 3 = 0.50 m (addition and subtraction problems)

4. 5 m of rope cut into 3 pieces. Piece 1 = 2.8 m, Piece 2 = 105 cm, Piece 3 = 1.15 m (addition and subtraction problems)

5. 3.8 m of rope cut into 3 pieces. Piece 1 = 2.3 m, Piece 2 = 141 cm, Piece 3 = 0.09 m (addition and subtraction problems)

6. 2,900 mm of rope cut into 3 pieces. Piece 1 = 1.71 m, Piece 2 = 40 cm, Piece 3 = 0.79 m (addition and subtraction 
problems)
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